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The verse reads; — AR VYN RY WN lmp AN
‘Which should not be done; inadvertently’

OVERVIEW

"9 maintains that the 3327 require [n127] X2 N in order to bring a 277 and
they derive it from the P05 of awRY MIwYN XY WX which is interpreted to
mean that a [n727] WY naw is required. It is not clear how X2 naw is derived
from this ?05. Our NM®0IN discusses this.

MmooIn asks:
—INY VY 1YY 29N VAT 19254 \’)",73 YWD 1Y N PNNY 19349 NYD

The >'"= has a difficulty; from where did %"= derive that the 3121
interpret the 7109 in this manner, so that they require X% nasw?

mdoIN anticipates a rejoinder:
— 991 NP YITNRY NP ¥RWNT 913510 NI

And one cannot say that it appeals to 7" to interpret the verse in this
manner; 7" is of the opinion that this is the proper way to interpret this verse —

mooIn rejects this argument:
— 19 V7Y NH2D PNRT NP N30 TN DY NNT

Because perforce "1 maintains that it is illogical to interpret the verse so
- 25’95 9INTI 12310 930 NN NIT

For %" agrees with 12112 as the X3 stated previously -
— NT993 1299 HNVY NN INY DIV o83 XY $2390)

And 1227 does not require X nxxw, but rather he requires only 329 nasw
— 1IPY NN NTNAT

For we learnt explicitly in a Xn>s92 later, which states -
— 1IN 1T NININY MIN Y19 9NINVY IN

‘or if he said, “I know this 128> is forbidden on naw -
— 2N IND ON 129D 7YY 03N ON Y799 2N DaN

However, I do not know if one is obligated to bring a 3292 when one does
this 779851, or not,” and he did the 7oX%n, the rule is that he is 2977 a 127",

"In 22,7 9P (regarding Xum X°w31 TWK) the P00 reads 'DWRY AW AWYN X2 W' In 12 70D (regarding a
Xunw 7°1°) the verse reads 'owX1 73wyn X7 W' In our X3 text the word 73wa is in parenthesis.

2 On 2,70 the X7n3 states: T21MI JIAKT JIX VDT TN KK *1 K2 2" "1 T2 K. See also Par 7"7n. If 5"
maintains that the meaning of the 12wyn XY WK 100 requires a (N121) R? N2, how can he agree with 1ann.
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This concludes the Xn»12. The X723 there states that this X072 is according to 1217 -
DIIND ON MPYNY 129D 9INP NDY
And the Xn»™ 2 did not state that he did not know whether there is an

obligation of 329 and nIP>» or not, but rather only if there is a 1277 arn. This
proves that 1272 2w even if W72 7°177 he is 21 a 127p according to 1ann. Since "1 agrees
with 1211, therefore how can maintain that preferred meaning of the p109 of m1wyn R WK
teaches us that a W2 nxw is [also] required?! n»oIN does not answer this question.3

SUMMARY

nooIN cannot reconcile that "7 maintains that the P09 of UWYN XY WK
means that a W? N2 is required, and still agree with 121, that only naw
127p 1s required.

THINKING IT OVER

1. Let us answer m»0n question in the following manner. The P10 of X2 WK
TIwYN can be interpreted to mean N1 W52 MW 7Y (if it is an extra P10d) or
it can be interpreted like X"2w that there is a requirement to be Ny 71 2W.
The 1121 choose to interpret the P109 as 9" suggests (according to the 7127),
while 121 and "9 maintain that it teaches us the ruling of 1ny>7°n 2w. What
therefore is MdoIN question?!”

2. Do (*"1) "1 totally agree with 121% (even regarding nywa ny>7 17 “nw
mwyn), or do they only agree with 1211 regarding a 7awiw p1°n?’

3 See 7"mn who writes: "7 WP K7 27K 11277 R2OHRT 11907 IR See 7R M90IN
* See 0"nn and YR WK,
3 See DMAN "0,
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